
 
Integrálási eljárások 

 
 

I. Törtes integrandus esetén.     ׬ ௙ᇲሺ௫ሻ
௙ሺ௫ሻ = ln|݂ሺݔሻ| + ܿ   

 
 
 

a) ׬ ଶ
ଷ௫ାଵ  ݀ݔ =  

 
b) ׬ ଷ௫ାଶ

௫ିଶ ݔ݀ = 
 

c) ׬ ݔ݀ ݔ݃ݐ = 
 

d) ׬ ௗ௫
௫∙௟௡௫ = 

 
e) ׬ ௦௜௡ଶ

ଵା௦ మ௫ ݔ݀  = 
 

 
 

II. ׬ ݂ᇱሺݔሻ ∙ ݂ఈሺݔሻ ݀ݔ =  ௙ഀశభሺ௫ሻ
ఈାଵ + ܿ 

 
 
 

a) ׬ሺ2 + ݖሻଷ݀ݖ5 = 
 

b) ׬ ଵ
√ଶ௫ିଷ  = ݔ݀ 

 
c) ׬ ݔ݀ ݔ2݊݅ݏ = 

 
 
 

III. Ha ܨᇱሺݔሻ = ݂ሺݔሻ akkor ׬ ݂ሺܽݔ + ܾሻ ݀ݔ =  ଵ
௔ ∙ ݔሺܽܨ + ܾሻ + ܿ 

 
 
 

a) ׬ሺ5ݖ + 2ሻଷ ݀ݖ = 
 

b) ׬ ݔ݀ ݔ2݊݅ݏ =  
 

c) ׬ ଶ
ଷ௫ାଵ ݔ݀  = 

 
d) ׬ ݔ݀ ݔ2ݏ݋ܿ = 

 
 

 
e) ׬ ଶݏ݋ܿ ݔ݀ ݔ = 

 
f) ׬ ݔ݀ ݔଶ݊݅ݏ = 

 
g) ׬ ݊݅ݏ ቀ3ݔ + గ

ହቁ ݔ݀  = 
 
 

IV. Ha ݃ሺݔሻ deriválható és ܨᇱሺݔሻ = ݂ሺݔሻ akkor    ׬ ݂൫݃ሺݔሻ൯ ∙ ݃ᇱሺݔሻ ݔ݀  = ሻ൯ݔ൫݃ሺܨ + ܿ 
 
a) ׬ ݁ି௫ ݀ݔ = 

 
b) ׬ሺ3ݔଶ + 4ሻ ∙ ݁௫యାସ௫ ݔ݀  = 



 
Gyakorló feladatok 
 
 
ହݔሺ2׬ (1 − ݔ݀ ሻݔ3ݏ݋ܿ = 

 
 

׬ (2 ݔ݊݅ݏ ∙ ݔݏ݋ܿ ݔ݀ = 
 

 
ݔሺ3׬ (3 − 2ሻଶ଴ଵଶ ݔ݀  = 

 
 

׬ (4 ݔ݀ ݔ݃ݐܿ =  
 

 
׬ (5 ௫మ

ସ௫యା଺  =ݔ݀ 
 

 
׬ (6 ݔݏ݋ܿ ∙ ݔହ݊݅ݏ ݔ݀  = 

 
 

ݔሺ4׬ (7 + 1ሻ ∙ ଶݔ2√ + ݔ ݔ݀  = 
 

 
׬ (8 ௧௚ఱ௫

௖௢௦మ௫ ݔ݀  = 
 

 
׬ (9 ݏ݋ܿ ሺ4ݔ − ݔ݀ ሻߨ = 

 
 

׬ (10 ݔ10√ − 3 ݔ݀  = 
 

 
׬ (11 ݁ି଺௫ା଼ ݀ݔ = 

 
 

׬ (12 ݔ ∙ ݁ሺ௫మሻ ݀ݔ = 
 

 
׬ (13 ݁௫రାସ௫ ∙ ሺ3ݔଷ + 1ሻ ݀ݔ = 

 
 

׬ (14 ௫∙√௫య
௫ర ݔ݀  = 

 

 
׬ (15 ௫యି଼

௫ିଶ ݔ݀  = 
 

 
׬ (16 ହ

௖௢௦మ௫ ݔ݀  = 
 

 
׬ (17 ସ

௦௜௡మଶ௫ ݔ݀  = 
 

 
׬ (18 ݔଶ݃ݐ ݔ݀  = 

 
 

׬ (19 ݔ݀ ݔଶݏ݋ܿ = 
 

 
׬ (20 ݔ݀ ݔଶ݊݅ݏ = 

 
 

ݔ݀ ሺ݁௫ሻଶ׬ (21 = 
 

 
׬ (22 ଵ

௦௜௡ଶ௫ ݔ݀  = 
 

 
 


